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Slope at threshold 25

hSlopeMean0

B Entries 960

i Mean 0

RMS 0

102 — Underflow 576

— Overflow 128

B Integral 256

— Skewness inf
10 =
1=

1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1
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Slope [Hz/DAC]




Slope at threshold 50

hSlopeMeanl

B Entries 960

i Mean 0

RMS 0

102 — Underflow 704

- Overflow 0

B Integral 256

— Skewness inf
10 =
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Slope at threshold 100

hSlopeMean2
B Entries 960
B Mean -0.6743
RMS 1.805
Underflow 636
— Overflow 0
~ Integral 324
— Skewness -3.256

A L OO
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Slope [Hz/DAC]
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Slope at threshold 200

hSlopeMean3
B Entries 960
— Mean -1.116
RMS 2.17
Underflow 269
L Overflow 0
— Integral 691
N Skewness -2.311

-4 -2 0

2 4 6 8 10
Slope [Hz/DAC]
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